
Time: 10 Minutes Paper G.Science 4th (T-2) Total Marks: 10

6th Month, 1st Week, 2nd  Day Unit No.8 Relationship Between
Geographical Location and Climate

Q.No.1 Encircle the correct answer from the following choices. (6×1=6)


(i) What are the factors that affect the climate of any geographical location?


(a) Temperature  (b) Air pressure 
(c) Speed of wind  (d) All of these 

(ii) On the basis of climate, into how many zones we can divide our earth?


(a) Two  (b) Three  (c) Four  (d) Five 

(iii) The climate of tropical zone is: 
(a) cold  (b) hot  (c) moderate  (d) normal 

(iv) The maximum temperature was _________ recorded in Pakistan on 26

May 2010.  _________  201026

(a) 52.5°C (b) 53°C (c) 53.5° (d) 54.°C

(v) In temperate zone the sun rays fall: 
(a) Vertically  (b) Diagonally  (c) Horizontal  (d) None 

(vi) The minimum temperature in Pakistan at K-2 was: 
(a) –17°C (b) –18°C (c) –61°C (d) –51°C

Q.No.2 Write short answers (2×2=4) 
(i) Define Polar zone. 

(ii) What is equator? 
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